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I) Background


A) Biography


B) Major Works

II) Influences


A) The Chicago School



"There is no God, but Frank Knight is His prophet."


B) Skepticism and Iconoclasm
From Knight’s 1950 AEA Presidential Address, quoted in The Academic Scribblers (by William Breit and Roger Ransom) as “the best succinct statement of Knight's philosophical view of social reform, a view that is dominant in the thinking of those who followed Knight's lead and whom we regard as members of the new neoclassicism.” p.198.
[image: image1.png]‘Time was no doubt when society needed to be awakened to the
possibility of remedying evils, and stirred to action, mostly negative
action, establishing freedom, but some positive action too. Now, we
have found not only that mere individual freedom s not enough, but
that its excess can have disastrous consequences. And a reaction has
set in, so that people have too much faith in positive action, of the
nature of passing laws and employing policemen, and the opposite
warning is needed. At least so I hold; perhaps it is a prejudice—how
can one tell?—I mistrust reformers. When a man or group asks for
power to do good, my impulse is to say, “Oh, yeah, who ever wanted
power for any other reason? And what have they done when they got
it2” So, I instinctively want to cancel the last three words, leaving
simply “I want power;” that is easy to believe. And, a further confes-
sion: Iam reluctant to believe in doing good with power anyhow. With




[image: image2.png]William James, I incline to the side of “the slow and silent forces,™
slow as though in all conscience they are—and though time is
fleeting.*




[image: image3.png]* Frank H. Knight “The Role of Principles in Economics and Politics,” American Economic Review
41 (March 1951): 29,




III) Problem Orientation

“The Fire of Truth: A Remembrance of Law and Economics at Chicago, 1932-1970” Edmund W. Kitch, Journal of Law and Economics, Vol. 26, No. 1. (Apr., 1983), pp. 163-234.

      Coase:
[image: image4.png]On the other hand, it’s a little hard to say that this is what Chicago gave
me because my original views on advertising had been formed by reading
Frank Knight [laughter]. You might have thought 1 got my views from
Marshall and Pigou, but that wasn't true, I got it both from studying




[image: image5.png]particularly The Ethics of Competition™ and actually having heard Knight
in 1932 at Chicago. 1 didn’t hear him very ofien because he held a very
carly morning class, and 1 didn’t often get to it. On my scholarship I came
and visited Chicago, and I saw Viner and chatted with him and also
attended a few classes of Knight. I think the only person I talked with was
Viner.

DirecTOR: You must have been a recluse even then because none of us
knew that you were at Chicago in 1932

Friepwan: What part of 1932 was it, Ronnie?

Coask: The early part.

Director: I was there.

Deserz: Then we had two recluses [laughter].

Coase: I think my views on both antitrust and regulation have changed,
in part because I really didn’t have very clear ideas on either of them
before I came to Chicago. If people had asked me what did 1 think of
antitrust laws, 1 would have said I favored them. After all, I favored
competition and they produced competition. Regulation, 1 would have
had the sort of woolly ideas that floated around at that time, I suppose.
They weren't subjects that particularly interested me. but I would say that
my views on those subjects have formed since coming to Chicago.

1 mentioned the fact that I was very interested in law and studied it at
the London School of Economics. However, in view of what happened
afterwards, it's what they gave me in economics which was important. I
think what I got in economics is in a way very strange—it couldn’t have
been done anywhere else. First of all, owing to the influence of Lionel
Robbins, the two main books that we read were Knight's Risk, Uncer-
tainty and Profit™ and Wicksteed’s Common Sense of Political Econ-
omy.® That s a very strange combination of books to be brought up on. It
says a great deal for Lionel Robbins that he did this. I once asked him how
did he ever come across Knight. He said he once had to review a book by
Dobb on the entrepreneur. There’s a reference there to Knight. He looked
up the reference, and that’s how he got hold of Knight. OF course, Wick-
steed is casier to understand. Those were the two books we read. and for
me they were both important and I studied them very carefully. Knight
happens to be one of the most important influences in developing my
views.

“ Frank H. Knight, The Ethics of Competition and Other Essays (3d ed. 1976).

' Frank H. Knight, Risk, Uncertainty and Profit (1964).

“ Phillip Henry Wicksteed, The Common Sense of Politcal Economy. Including a Study
of the Human Basis of Economic Law (1910), reprinted in.a new edition with selected papers

and an introduction by Lionel Robbins (1933). The latter edition is available in a reproduc-
tion edition from Kelley.




p.215:
[image: image6.png]Lanpes: Ronald, you mentioned Frank Knight's Risk, Uncertainty and
Profit as an important influence on your work. One of Knight's papers
that has been most influential in the recent law and economics area is his
paper, **Some Fallacies in the Interpretation of Social Cost.”® That was
in some ways a forerunner of your paper on social cost because it spells
out the importance of property rights in resource allocation, and I wonder
if you were familiar with Knight's article?

Coase: Oh, yes. In fact, I would say that the title of my paper came
from Frank Knight, and the title of the paper was rather to indicate the
topic I was talking about, because, of course, I don’t think the concept of
social cost is a very useful one, and 1 don't ever refer to it. But it did
indicate to people what I was talking about. I knew it, and if there are
traces of what Knight says in my work. it wouldn't surprise me.

Fraeoman: It would surprise you if there weren't, wouldn't it?

Coask: Yes, that's right.





IV) Solving the Problem of Externality


A) Definition and Examples

       Barreto









                  Hist of Econ Thought
The Problem of Externality
I)  PIGOU'S PROBLEM:
Two roads connect two different cities. 


Broad, Poor Road — One road is broad and can accommodate all traffic without any decrease in speed as traffic increases.  Unfortunately, it is poorly graded and has potholes.


Narrow, Good Road — The other road is in excellent shape. Unfortunately, 





vehicles are forced to slow down as traffic increases.

The following table gives the productivity (total, marginal and average) of the two roads in terms of the output generated per unit of time.  

•  The broad, poor road can handle any number of trucks, but they must travel slowly.  Hence, the productivity index is constant at 20 units per additional truck.  

•  The narrow, good road data shows that productivity is a function of the number of trucks hauling cargo on the road.  When there is only one truck on the road, the truck has a total productivity of 35 because it can carry the cargo quickly.  As more trucks use the narrow, good road, however, the productivity of every truck falls.  For example, if 3 trucks were on the road, the resulting traffic would lower the productivity of each truck to 25 units per truck (yielding a total productivity of 75 units).

 
  BROAD, POOR ROAD



NARROW, GOOD ROAD

Trucks        TP           MP          AP  

Trucks        TP           MP          AP  



     0
            0              --               --

      0
            0              --           --


     1
          20             20             20

      1
          35             30
        35

     2
          40             20             20

      2
          60             20
        30

     3
          60             20             20

      3
          75             10
        25

     4
          80             20             20

      4
          80              0
        20

     5
        100             20             20

      5
          75            -10
        15

     6
        120             20             20

      6
          60            -20
        10

     7
        140             20             20

      7
          35            -30
          5



TPBP = 20T





TPNG = 40T - 5T2


MPBP = 20





MPNG = 40 - 10T



APBP = 20





APNG = 40 - 5T

Suppose there were 7 trucks that needed to go from one city to the other.

How many trucks will travel on each road???
Upon coming to the, ahem, fork in the road, each truck driver will decide — individually — whether it’s better to take the BP or the NG road.

Let’s see how each truck driver decides:


Each truck driver gets paid according to productivity — individual productivity.  If truck #1 generates 25 units of productivity, the truck driver gets $25.  We assume self-interest — i.e., each truck driver is trying to get as much money as possible.

So, let’s see how the trucks get allocated:

	Truck
	Broad, Poor Road
	Narrow, Good Road

	Truck #1
	
	

	Truck #2
	
	

	Truck#3
	
	

	Truck #4
	
	

	Truck #5
	
	

	Truck #6
	
	

	Truck #7
	
	

	TOTAL
	
	


Thus, according to Pigou, the “individual seeking to max self-interest” or “market” solution yields a total productivity of:

How many trucks should travel on each road???

Number of Trucks on BP:


Number of Trucks on NG:


Total Productivity:

What is Pigou's Problem?
A graphical exposition of Pigou’s classic
 externality problem is depicted in the figure below:
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The productivity loss of 20 units (from optimal productivity minus observed productivity) is described by the area of the triangle and is often called a “deadweight loss.”  Pigou calls this a “market failure” and argues that government intervention is needed to fix the misallocation of resources (in this case, trucks).  

II) What is Pigou's Solution?

Pigou offered three interventions, in increasing order of severity:

1) Place a tax (or subsidy) in order to generate the optimal result

In this example, that would mean charging a toll to those who travel on the narrow, good road.

2) Use a quota or limit restriction

Only two trucks would be allowed to use the narrow, good road.

3) Nationalization

The government would own the trucks and tell them where to go.
�That’s a pun— you’re supposed to smile . . . :)
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